=] e —— 48
18 H B # £ (meH SF5E128148) LEHREIENESFTE  BEER: (ABDJIKA  BEMFE  10:00
T O o
i BHIEESE. S10R =8 ASH58E128 15E|(é)
gl BOBIRIEE 5 o2y Do s |5 gza FFE gz:2 % 2% 2 oa slr
5| B B | X | & Fl T 2 |EB|RE = |Ig|& £ —_ <
ABEEE | o110 B B & & |E| 119 2185 |4|@| & & & & 713 U & & 7 2R 0 =5 xrxr +/\ ~ »
1 & Cl2|l@ E B B |v| +8 50| X 18 # 28 0 — n ~ ——
1,62 mBE| M |[3|D| B & B & + 8 SBle|® F £ 8§ & 281 373, 600 N RR H:H Il
: ar hE| 3
% (3@l 1=4=7 270 3EE 7~4~1 1,240 SPaS 365,000 jj —)b y
3[04 F a=7 160 1=7_ 160 1=4_160 &% 15,235, 000
A ) 1 RS #1122 2217 4 B OB OE = 7@ & & B A 2 148 0 ek a . - ] —
ANAAERECEE TR AL i I [ HEGRES FR: 400m AGLES: 47.3m T REAH
1,625 mig| m A E B E 2 , . it —+ .
A A 254 g |7 CEBIESTHAOKRE. BESHMO( MBEE )ET—IL T,
= = 31 ) ) >
z iig 1"—'2 . g;ig iii g~1 . 1;:;28 smm 14, 572, 800 /-\ HKEL—RIZBWT 2B 2B EORFTIICINVFETADOTIEELZE,
> 3@l 104 ) EE 6~1~ , 74 F 404. 300 ¢ -
By Toe 295 =6 T E0 T 4 300008 XA T EF RO TR BERTE (18— 22 L) TREL I T,
ABREERD [ o[ 1[O] b 3 f|E] 122 21498 [4[|O] &5 A B _# 71®] F4h A #H 27248 0 [j: — - —
3 ¥ E “l2|® ®OZ % B|5|@| & B AL 2 HpE 0 L—x |BIEE®E = F & |Flags ¥ vy —r@ﬁﬁa F Rl _RYF |g|B AT [B] R &4 (FM)
1,625 mBE| m |3|@D| B # B 18 6|@ M N & #H 2 525, 400 =& 57| = % 2l 112 415 6| ERE[EBIEIV|T]K BT < [E i i
1 2HHE 1,301, 800 % NEREEE - 81.55 F2% # 6 13 @ 109.0
R [2## 35 170 288 3~5 370 4 g 818 700 E 1Ola[ 5k g o B 4pmE 7302 o |1 1[1[1]0]5]|i Fav> ® 880
£ [3@# 32527 1,990 3@BH 3~5~7 6, 980 522 A W = 85. 36 22 305 '
8 '74?5 325 120 3=7 920 =7 390 7;; zo?igggg hp §§ A & 2 (2% 3(/ W[E IF fp8E W 7013.92) ¢ "166|0]012/3]2[0Fpmam 5 2 3 © 70.0
A T e 0] & & E[ 110 2282 B|4]0] F & & Z 716 X @ & = 2R 0 — B 3@H Kk FE @z 4|4z ss[3 92 84.8310(0|3|6[4f0]|24 B 552 A
413 % |%0z2|0l o mo— W |y| ik s|sle|® & % B2 2 i 0 S PN z A T
1,625 miE| m [3|@| & )il # - 6|® X & * B 2um , 136700 ~ =z 4@%35 7 PEABRPOE E| 9113.8 4 2010104 |3[1[0|Fim nsde
i ; g4 ~ AL Ty = 83,08 P F 3 41
E 288 127 240 2EE 7~1 270 32E 2 50 o f& B 5OE SR g = —P31F % 9533.93, S8l10(5(01]|0[2[F 8k E36.
| 3FE 12427 680 SEH 7~1~4 830 o4 K 655, 100 (S%eEEEE) S| A[WLDF B R z 78.06 Flm &7 7 7
BE|D4FK 127 170 427 450 =4 930 &5 29, 685, 800 j & 1 695 6®ﬁ zvn </ ,JESZE 7| 98]3.92 7 . 064 0]1]1]0]2]4 Eg% ;;‘7 7 7
A TR (GeED T[®] A M fa E |%| 11.8 2166 B|4|®] JI O @& & 7@ @ A Il & 27 0 ,625m a| A [T = 87.29 RIE 7 2 2
5 hEE |04 2|0| THE B o |o|mE s |5|@ = B M 21 0 = _ @ 5 B 8E B103.9), 48| 1[3|7T10]0|1|rmama e
1,65 miE| m |3|D]| & B X + 6@ 3% & 2B , 817,200 'C‘ #4010:56 R
h . Ved ) 7 EiT
e e — T Eam— L I
& [3@1m 1=23= i ~6~ : 74 F SR =
% [74F 3=6_180 1=3 140 126 140 &% 35, 994. 00 jl_h@g AE Tm g w2l | 95(3.92 8833010151315l 0]28 22@5 ®  109.0
LROIE [o4]1]®] B & * % |8 124 2363 |4|Q] & # = = 7|0 & B A & 2 0 o i 2 iﬁﬁ m@_'l‘s b= 7 88222 E;:; gig? ® 8.0
6| 7x1 %% 2|0 & & 5 @ | 28 Bls|@| ¥ & % =@ 2t 0 H % ?72= j wglsofm £ 72[3 02 olol3]2[1]o ] ® 100
1,625 mB| m (3|0 = & & F + 6|®| B # EBF 284 588, 000 Bl AR 2N 15 5 . 333 F2 )1 i X35
N - 2 2% 1,624, 400 © &l "™ BlalRAEE T an splelmu] 1), 8283Tolol 1o 1o 2% (¢ P
4
R|28# 526 280 2% 5~6 360 38 20, 244, 500 - & AL = s 8520 FT B 5 1 7
JEE TEEES 2,050 SEH 5~6~ 1 3,670 Ebe 804 700 S B joE = = &5 99T | 583.93% %950 /01013 [ 1| 1|0|Fii' 7 226
38 |04 F 526 240 125 830 =6 _1.3%0 at 24, 928, 800 N = 81 44 B T 776
IR R R R ARE R T AL
1 2 : = ¥ 2 5 A BE[EE : ’ A5 =
1,65 mE| m 3@ B B oot £ | | i@ slelo| # E *fi s 592, 600 $H:H 6@"@1 L g EEPOE E|1003.92) 4 Sailrlofr]r)3f2|pE k753
e 2HH 1,775, 000 1,625m 2| A|YEE 1 R 46/ | 85(3.92 83.43 ol7111113]1 F1E %20 3
S T RS 75 SEE =7 VR 351 1,551, 000 s DlE[2dE A . EFBN6E B 85392, 281 FRREM 105
g - =7 St 3EE 22,500, 000 [j: #4]11:23
& | 38 12627 1,070 3EH 1~7~6 1,530 94 K 493, 400 i
B(OLF 127 160 126 250 =7 640 5F 26,912, 000 N s 1127 (7 EiL)
SHGERE) | g4|1|@] 8 O @ F [=|11.6 255 [4/® 8 KX & 7@ B H B R 21748 0 ﬁ i
8| & | 2O & I & 5 g 18 $B|5|6| & & E 2o 016 00 p L) = R — . T T E 5 =350
. 20 mE| ™ 3|0 8 % E % | |28 6@l X & # = 2R , 316,000 J-_H_'— E||1®E Nk T 45 sel2E wneseld Lol t]olof4[B8|ERE6oe TNEE
b sh9F hA 17 e mm \ .
2 [28H 1= 240 2HE 7~ 1 430 32E o > % A 2@z 4 — meleein H| 84)3.92)5 87,98 0]0|5|2|4]|0|B LB 95 ® 9.0
| 3FE 12227 390 3EHE 7~1~2 1,240 94 K 495, 600 — = 1 IR i F2X I8 1@ 4
oK 127 150 2=7_310 =2 310 &8 30, 725, 300 -~ = st s Stk B uE EAE N 98392, T8l 6[3410/0[”2(BRm 255 * 1R
NESICAE) 0.9 1@ ¥ FE & 3 |#%| 11,5 3036/ B[ 4|Q| & # F+ F |S|7|6| # & KX & 2148 0 o s K 4@$ A[fym 3% 391k PR|113(3. 92 B 82.83 11210l0lol6 F1)Il B R 5
e |0 % - 3 & 3 2 0 1% A2 pd d 250 FIlABX 7 4 4
9 2,(?25 mE| m §% ﬁ o g {E " A—fﬁ e % % 5 * g; 2%2 576, 200 o= A2, 7 - 85, 06 F2 AL 2 @ 4
i 2EH 1,933, 600 33 5B[#| F56[E | 59]3.92] , 37501016 /6)12|0|p2 w5 2 1
288 4=7 330 2EE 4~7 560 32E 25 235 200 L | BE®) [ 6@ 4= i 3536/ R[103[3.93[ 5 8186 0(0|1/0f[0]0[F Bxm 4 2 %
| 3EHE 12427 210 SEH 4~7~1 1,090 94 K 552 900 1.625m 6 A;;%\H/T 9;1 15 P x & men
B8 [DAF 4a=7 120 T=4 130 =7 150 5F 29, 082, 300 | @|#| 1 3 {e[46E X 833.92f g 650|010 13/0[5[0JFix o0
SHRGERD | g 41D K 2 B [£] 1.4 3005 [4(Q) & F # = 7|0 E & & A 2148 0 #4)11:51
10 row g m 2D E B ;'2 ’% Bl 51212 2 % ?ﬁ*i[‘ 22; 699, 500 (7 E3I)
g| m j I = & , .
. , m 2 3|@| B H#H L] B|6|® = 2?2 2. 368 300 'i %E11:55
i . 3E 2,421, 800
R|2HE 124 540 2HE 4~1 970 3 EE 26,044,000 YEREE AT — F2
®[sdi 1=az7 300 3EH 4~1~7 2,110 Sk 471, 600 L %lh DEbE B osE auRE fm) 7739, Sngalojoni[1o]BE ESS % :g?'g
2 |[D4F 124 180 427 220 =7 130 &5 32,005, 700 N _ . 90. 92 Flf OGO :
11 Sﬁ%&(f?g@) 0.9 1 % %l ;:; ?xﬁﬁ[{ % 11.; 2.57.1]s 4% i ;.é "35 i 71@] T & W % gﬁfg 8 CJ: g'g A R 2@%1AM” ?t:!; SE A0 K| 74[3.86[ 893178 0j0[6|4f1]0 Eg—% ;9?8 ® 91.0
2 R A + 5 = = . = . "?T 1
TEUEIHGEES & Sk sl6lo 5 5 A Lo £ Y | ARl [P 1 R il T = O e 30 021810l a8 | xca
i 3@ 11940’ 800 % 4la)st /g 350k | 98]3.92| B 8.26[1114 110|318 7 RE 5 13
= 940, S GIKICS I = = 2 _533 P2/ B6 61
R|[2%# 125 150 2HE 1~5 290 =gy 19’ 166. 100 v _
% [s@l 12425 230 3EE 1~5~4 500 94 £ 305, 600 jo % 5@??& Hjﬁ I kY= E| 13392 S8il1]8]2/0f2|3|LERISSY
%[44 F 1=5 110 1=4 170 =5 240 B 23,811, 500 (hEEE) NS — 7970 FTAZE 5 4 6
10 si&gﬁE) 091% ;@g%i %11; 3.00.1 4%%5‘2%2 } 7@ N O E = 278 0 o 6©ﬁ2:§ £ 3¢ BE[SIFE #] 70[3.85( Sodafololt|1]ofo|rp ¥ s
)43 T2 % ¥ * 5 y R 1,625 UFERRY
205 mE| m |3|0| = B FTme sl Blo|G| £ # & # S?ié , 387900 = m @*’éé;} 5 [40[mzin| 77(3.92] , 83.8510 0|2 1|3]|0[Z2:5 3524
h ; 514 #Hen12:19
R [288 1=5 2,260 288 1~5 3,870 32E 35 283 509 (7 &37)
£ |38 12527 8, 180 3@EE 1~5~7 49, 210 94 K 403. 600 FE12:23
3[4 F 1=5 520 1=7 170 =7 1,410 ot 40, 099, 900




) o Al

=

% H

R I o A

H

off

B I R A

o

Bt

B Al

H
H

EEEH

_ = |el=[ef# Flaansn| B |2 3 s[s o«
L—2 |Elalss B F % sy sy 516 |ExtE [E[BE[Z|T]|K B < B A A REEFR
- 5 HEEREEE 26 /1103 02 B 87.91300(2]0[8|6]|2 L 52 ® 1360
EA?E—.JW’ 30kE ]153923 88.96 F1& #1 3@ 3 @ 101.0
A 4B 2QB 1 ER B APOE B[115392)g 233 0]0[4[3[12]0)|ri m@® 6 ® 9.0
s s e 36|# 4@ e 5 mleE wpz]se® 83,2015 4/0/0f4|14|EF 22T RS
4@E 4" B ek m[100}3 92 83.361412|2]0l4]|9|BE 298
bIO[E A T sz w w13, Bglolo2] 1|10 B 2% °
)| (olalt Ty gyl oo 2 lo[1]2]2[oo|Fs 8121
Lo m ol Ay T wr gplom #| 71(3.02[g 90.5510l0/1]3[0|0|HF2838
#12:47
sxi251 (7FD)
- 6 HEEENETEEE 335 1|51 1|1|4|En 8218 o me
= ke ' — 64.0
] 2lelelila™ e = sl mliafs |, 55319125/ 0|3|15|2Em218 ® 5.0
5r2 |SOFTRZ A X BEBE WIBET, 5| 1504 1[2|lre miz0 * T
el T = memein], Bl o[so[ih 5216
selEfE s W FeE E2k|, “T9200lofo|1|o|o|HE B 25,
18> 6@;@%”{}””5 g0 qEBE E[1023.71 “otlolololofofo|HEETT
BOm 1Tl L T g = zplaps E|n6f3of, “Blolol2]1|o|1|hEE S S S
#13:17
s3] (7FD)
7 ISR e B fo[e[ofa[s[s[A7 8358 [0 #o
] 22 fE "3 EERsx K 102371 “88lojojojofojo|BEE55S ® 550
ﬁ‘& L [z5 7on - 45.33 F2% %155 4
550 |SCPF 48 H AL fE2E F108)377), “oai|0(0]1|0]0f0frE &5 3 & *E
Aofn 1 g ot s sy B E oo [2[W[ 1|z B30
Sl L 86 somanR m[man|s a5 ]3 02| 2[0[BE 2 . 14
8 TGl e mma o wos o[ 11 [s[s|2F & 4s
Bom Vol Vi T m szerm # sl 181318 |7]0f0|3|h 2129
#13:47
sxi351 (7FD)
3 B A XS 551 [o[2[o[s[i[AR B553° [0 s
R - B 96. 28 Fliz BR 3 @ 1 @ 162.0
S 2@%2135 Bk O BPIE EN003.92f4 "607]|41716(0)|11| 6|3k mas 73 ® 135.0
%& S| Y 94.28 F12 185 %RX%
VREL]
4@\% 53 ey == mEn|23fEL|115[3.92( BI113|3[0|0[1|BR E 1 s
S| M T — 100. 03 FIA®% 1 @5
- 5@§2/_J} IR G AR ) 913 90204 296 113/4]0]3[2]|ef ma6 s
8| olalSe m e w7, 2 gilo[ofo[1[[o|5E 222"
2.08m Mol S B s #rAER|4SHE A 85(3.92] 9.3 0fo|3|4]0]0|F ket K’
#Htn14:18
g4 (7FD)
- BT5E Y FFT  FRI/EF0D ~ E—JFE BRI FRI8EF205 ~ mﬁ.ﬂll&ngb‘»
&
- HHEFCBASAIBICE., Y=V H—FOL—RBES - KB & THELES L. -
s
- PREETHNADIRE. FEY - EERELTEEL (23, 19 ]
5 o
- Fx)ORTSHYTIE, HETOEBRHBOESRE*CEATEET, & el
i
CARZMAHh ' RE2yTETEBELEDLELLLZEL, g g
HEHOBAT20EICHE>THE, GREWEIEEICELAEL £, SQc S pEBEEY

A of A

Ek_

% H

A of A |

M m R W

A of A

4

%

A of A

Ek_

I H

b3

#

4 @ﬁk‘?ﬁ

-

RYF

AT [ pfE

L—x |BEEE & F & |[Zjewed v e N 2 A A% M)
IR DA L % I P T
S & 2®%?3ﬁ7@% pE = PF X 039, sio[4]2]1 205;”2"'%1(%6 ® 130
- & 3®5‘R§4{7 B K &MUF 7 863.92), 9_8'2(1)8 0{0]1]3[0]0 E{j&tﬁ{sﬁéfsigz A EH

R R R sot2[o 13 0]2 o[ F1h 892
bR Sk ep g max w7, B8 2| 1|0/oon|HRa% S8
w82 Tolal S % an pm m orsol, 8]0 o o o]2 3|17 3452
noem o S T3 4m mlrE TS, 102551013111 1[3[5|F fumts 1 %
#EE014:49
seia53| (7R
10 IS ER I %2 fs[2[1[s[s[A " 6857 [0 2
2238 A H =m0y 15,9 00l0(5]2[0]0]|Hd B £%° '@ e 10
S #& 1
e [SOPSE s 8 sm mwpw|d ) R C R T
Ao % T apE wmba, w3003 3 [«[o[f1E Eaa s
500 5[0 Ms g (—uF = e, 107401015\ 7| 00| 1|H %% 228
5| Telal ik "4 5 gm w ol g 0[5 e[a[2[5E 232
200m (\Valel SV h m acjsse &) 68[3.03], 107.910(0|4|6|2|0ff% B229,
#E4015:23
sxi527| (7R
11 RN R aan Sglo[olo[s[[AZ§a8E [0 2
S % 2@%?%:”% FHEE 2 #[100[3.92| S 10710011311 0]2|3[HE 8§ wrdi®® 7 |l@ 1890
sk 3B SR T & =uE ®|119]3.02(% 1031807111 (0]2|1|H &% 2 0 & A
WelalSTi T m men 8 whay wglala[a] [s[1[EE 2 e
5% Sk "f Fn thluE | 95305 10567001 0| 6{4|11]0 E}gj *"é‘g
IR olelSk 3 mm me w0l %581 [0]2[o] o] [ 225"
vosm Ol e oz m wpu|o 8o o 2o o[04 % 10
#E4015:58
sex16:02| (7FL)
1®E| S\ 15 shoAaR 0B 1051392 105,181 41 3{0[1]3|13|F ERLE DO g Z;g
2R3 T v 8 a7l 106,08 3]11]2 /0] 05 |F] fimt 1 5§ ® 18.0
S #& 245 =
SR 3@5%?3?:2 f{% fE QMR H|103]3.92| g 10?42)800600021,]%\2(3%)@721 L
4elmdlE O g aE E 039, 103,1810]07]38]0[F 7 B2 53
5 $# Tk 1 s=[eEm | 86302y 13,1900 0|5 ]2[4]0]f "™ 4% 2°°
o 6®ﬁ?% B s e m spel, 100,83111015]2[2[2F fmett 5 3 5
o Pl S g g mnin] wgalola o] [ofs[aa azes?
#54016:36
se16:40| (7FL)

BERREIRIE4 7y ADFHERTY .
STR&E47ADRAE— MREPNHIREL., EEADRAICHITERKTY,
BKIZRIE4 ¥ BORENY IR MLy FE by TTEBLEZEIHRTY,

OXHBEHE. 2B EEE. BR. RBOBIRE. OX#FERY. #ik (Bb5 LAY DE

IEZRLET

Pz

=z

[=]
I

OXMBZEZDMOERTRERLNENSZEAHBYEYT Tz RELL—ADOEBIRBGLEEE, FIETHIENHYET .
OWBRLEMEHA TELVERICRIILRIITELEE A,
OBEVRDICL--EHONRF, REBOTIHRRBULET,

OFRKERLGETHSEFOHEZIET ENHYET,




